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QUESTION 1

Identify three types of important statistics collection that you can disable in Oracle Database 12c by setting the
STATISTIS_LEVEL parameter to BASIC.

A. Oracle Database alert.log file

B. object-level statistics

C. Automatic SGA Memory Management
D. Oracle Database Trace files

E. all server-generated alerts

Correct Answer: BCE

QUESTION 2

Which three events signal a database writer (DWR) to write buffers to disk?

A. The database advances a checkpoint.

B. A client process commits a transaction.

C. The redo log buffer becomes full.

D. A server process cannot find non-dirty blocks after scanning a threshold number of buffers.
E. A tablespace is changed to read-only status.

F. The database is shut down in immediate mode.

Correct Answer: ADE

AE: When tablespace is changed to read only status it will issue a Partial checkpoint. During db shutdown a checkpoint
is also issued. DWR writes when there is a checkpoint.

QUESTION 3

Identify three key properties of a transaction in Oracle Database 12c.
A. durability

B. consistency

C. concurrency

D. isolation
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E. scalability
F. manageability
Correct Answer: ABD

Reference: http://docs.oracle.com/cd/E16655_01/server.121/e17633/transact. htm#CNCPT016

QUESTION 4

When executing shutdown abort in a pluggable database (PDB), you
A. shut down abort the CDB

B. shut down abort the PDB

C. shut down immediate the PDB

D. shut down immediate the CDB

Correct Answer: B

QUESTION 5

Which two statements are true about the B-tree Index?

A. The leaf blocks in the index are doubly linked.

B. The leaf node stores a bitmap for each key value.

C. Rows with a NULL value in key columns also have entries in the Index.

D. The deletion of a row from the table causes a logical deletion in the index leaf block and the space becomes
available for a new leaf entry.

Correct Answer: BD

Reference: http://www.siue.edu/~dbock/cmis565/modulel2-indexes.htm
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